1 3 4 5 6 8 9 10 1 12
DRG NO. This drawing must not be used for manufacturing purposes copied nor communicated
A3-19262 DIMENSIONS IN MM (UNLESS STATED) DO NOT SCALE in any way to third parties without written permission from CURTISS WRIGHT]
- THIRD ANGLE REVISIONS
REV DESCRIPTION DATE |DRN [CHKD
A ISSUED FOR MANUFACTURE 02.10.13 | M.P.
B ITEM 5 WAS 041213 | SA. | J.F.
HASTELLOY ASTM B.575 UNS.N10726 A
C MATERIAL DESCRIPTION CORRECTED FOR | 10.12.13 | S.A. | J.F.
ITEM 5
592 915.5
318+3.3 125 - 250 pIN
8225 SERRATED FACES
2 HOLES SPOT THRO' NAMEPLATE 2450 HANDWHEEL 159
(POSITION TO SUIT ON ASSEMBLY) CLOCKWISE TO CLOSE| 745 ) 745
&DRILL @1/8" x 6.0 DEEP 384
X 1.5 1.5
C D T
I _ - B
w
T n PREFERRED
it DIRECTION
2 o —~———
! GEARBOX I OF SEALING
STOP "OPEN" | E
SHAFT CIL 7]
ol @
Q| IS )
z ‘ Z 2| 8 T
. ) A sl 8
| 0
£ TO OPEN 3
1 v
BODY CIL | S
: Cc
GEARBOX
STOP "SHUT"
X
FLANGE DRILLING TO ANSI B16.47 SERIES ‘A’ 150% RF 42 SECURE WITH SECTION X-X
28 HOLES SPACED EQUALLY OFF CENTRES ON 914.4 P.C.D. )< - SCREWLOK 222
28 HOLES DRILL 35.0 THRO AND BACK SPOTFACE @62.0 TORQ%EG' N25° LBt
BOTHSIDES ( ™) SAAS ASA PONo: 4300853682 | SOLENT & PRATT
ITEM No. VDS No. TAG No. JOB No. _D
280 FHAT102R | 55-LD-0038 880259
290 FHAT102R | 55-LD-0039
NOTES 44 [M24 RUD EYEBOLT RUD GRADE 8
43| SKT CAP HD SCREW M30x65 STAIN.S BS.EN.ISO.3506-1 Grade A4 70 VN105
1. VALVE WEIGHT - 1113 Kg APPROX
9 42 |GEARBOX - ROTORK STAIN.S 316 VN105
2 E-BILL N° - 914752-ES MODEL No.- AB200/SP9SS - SG 450
35 |FACE SEAL O-RING 2193-57 NITRILE
TORQUE REQUIREMENTS 3. TEST REQUIREMENTS 34_|SHAFT SEAL O-RING 0745-30 NITRILE
ITEM 20 = 130 LB-ft (176 Nm)
ITEM 23 = 130 LB-it (176 Nm) TEST STANDARD - API 598 /1SO 5208 33_|SKT HD CAP SCREW M20x45 STAIN.S BS.EN.ISO.3506-1 Grade A4 70 VN105
ITEM 25 = 130 LB-ft MAX (176 Nm) PRESSURE ON BODY - 30 BARg FOR 5 MINUTES 32 [F351SO ADAPTOR PLATE STAIN.S ASTM A.479 S31600
ITEM 33 = 250 LB-ft (339 Nm) PRESSURE ON SEAT IN BOTH DIRECTIONS 29 |ROLLPIN @1/8" x 3/4" STAIN.S ASTM A479 S31600
-21.6 BARg FOR 2 MINUTES 28 [KEY 22x14x140 STAIN.S ASTM A.564 Type 630 Condition H1150
0.70/1.0 CLEARANCE AIR SEAT TEST IN BOTH DIRECTIONS 25 [M16 FULL NUT INCONEL 625 ASTM B.468 UNS.N06625 XN501 E
BOTH ENDS 878 REF -6 BARg FOR 2 MINUTES | 24 |POUBLE ENDED STUDDING INCONEL 625 ASTM B.468 UNS.N06625 XN501
ALLOWABLE LEAKAGE -HYDRO = ZERO cm?min M16x95 50825
CAR - ZERO cmé/min 23 |SKT CAP HD SCREW M16x50 INCONEL 625 ASTM B.468 UNS.N06625 XN501
D ) (3 14042 FUNCTIONAL TEST -19.6 BARg 20 _|SKT CAP HD SCREW M16x30 TITANIUM ASTM B.348 Grade 5 TV101
L
3OFF PEEN OVER TO LOCK STAMP ON NAMEPLATE - 8 COVER GASKET - 1.0mm SRAPHITE 99'90/" SURE MOULDED RING
3 POSITIONS 17 [GLAND PACKING -80 /D x 7.5 C/S =
®) " 7 CURTISS WRIGHT PASSIVATED P6
FLOW CONTROL (UK) O 16 _|SEAT RING GASKET - 1.0mm THK __| GRAPHITE 99.9% PURE LAMINATED
19 —=AP 196 BAR 15 _[SHAFT PIN TITANIUM ASTM B.348 Grade 5 TV101
/4 PN: 750 13_|ANTI-BLOWOUT RING INCONEL 625 ASTM B.446 Grade 1
PN: 196 PTFE COMPOSITE -
| MAX PRESS. 19.6 BARg 12 |BEARING INCONEL 625 PTFE FILLER CH 2
| % = [TEMP RANGE: -20°C to +150°C | 11_| GLAND FOLLOWER TITANIUM ASTM B.348 Grade 5 TV101 F
& N I R e BODY MAT'L: B367 Grd C2 10_| GLAND PLATE TITANIUM ASTM B.348 Grade 5 TV101
&K X ggfgggmm gg‘ﬁ:g’d 5 9 |END COVER TITANIUM ASTM B.348 Grade 5 TV101
SERIAL No- 8 | THRUST RING TITANIUM ASTM B.348 Grade 5 TV101
% EAR. - 7 _[RETAINING RING TITANIUM ASTM B.348 Grade 5 TV101
< 6 [INSERT RPTFE STRESS RELIEVED
'/ g g O c€ 0038 5 |SECONDARY METAL SEAT TITANIUM ASTM B.265 Grade 5 \B/\C/[ Tvi01
~5 3 [DRIVESHAFT TITANIUM ASTM B.348 Grade 5 vV V1 1vi02
2_[DISC TITANIUM ASTM B.367 Grade C2 TC102
4. ALL DIMENSIONS ARE IN MILLIMETERS 7_[BODY TITANIUM ASTM B.367 Grade C2 TC101
@@@ 5. DESIGN REQUIREMENTS - API 609 CAT 'B' & ASME B.16.34 |T,50M DESCRIPTION MATL/SPEC wDs  |esk
6. CV =22133 US GPM
DRAWTA R Dé;’%g 13 SCALE | COMPARABLE WITH
12 7. CONCESSION NoS. 022, 026, 027, 032, 037, 042 APPLY SURFACE FINISH TO BS1134 -P. .09. . _
O @®@@ CLA VALUES IN MICROMETRES [~ CHKD: DATE: 1:8 A3-18669 G
J.F. 02.10.13
WHEN QUOTING DRAWING N
VALVE ASSEMBLY F 30" (750mm) NPS BIFLY VALVE ELERSE QUOTE LATEST
SECTION Z-Z OPERATOR REMOVED SCALE 1:4 CURTISS DOUBLE FLANGED REVISION LETTER
‘{:-'{'Fl:‘gz'cac;:{.:] Compan, CLASS 150
L)
Flow ¢ mpany SERIES: T-SERIES SIZE |DRG‘ NO. REV
INSTALLATION Al | A3-19262 C
IN OTES' INSTALLATION:
) H fest LNG
Tag Number: % Qe Ly |DRAMNG TIE .
ﬂ Statoil [GA/Detail Drawing for
55-LD-0038 30" Butterfly Valve, H
VDS: FHAT103R
CONTR. NO —
A 0.10.14 As Built o [wr [es |- A3| &1 | ss |E066-SD-55-LE-1016-001) A
REV. | DATE REASON FOR ISSUE PREPARED| CHECKED APPROVED] SCALE SIZE|  AREA SYSTEM DRAWING NUMBER REV.
1 3 4 5 6 8 9 10 1 12




